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Heg, No. :

Name :

I Semester ts.Sc. Degree CtsCSS (OBE) Heg./Sup'/lmp'
Examination, Novernber 2020

{2019 Admn. Onwards}
EOMPLEMENTARY ELECTIVE COURSE IN MATHEMATICS

lc0l MAT-CS : Mathematics for Computer Science - |

Tirne : S Hcurs lt4ax. Marks : 40

PART _ A

euestians 1 - 5. Answer any 4 questions, Each question carries 1 rnark.

1. Define equiiialent matrices.

2. Find the value of k for"which the system of equations'

(3k-S) x+3Y+32=0
3x+{3k-8)Y+32=0
3x + 3'V +(3k - 8)z = 0 has a non irivial soiution.

3. Define Orthogonal transformation"

4. Write the ntn derivative of log (ax + b).

5. State Taylor's theorem.

PART - B

euestions 6 - 15. Answer any 7 questions. Each quesiion carries 2 marks.

6" Soive^2x+Y="1

5x + 3y = 2 using matrix inversicn r^nethod'

7. Show that the vectors (1, 3, 4, 2j, (3, - 5, 2, 2\ and (2, - 1, 3, 2) are linearly

denendent.

P.T,O.
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B Find the nih cierivative of 
t +-2- 

-- rogi 1] 3 
l.)l*'1 "\ x-1.j'

9. Eetermine the 'u,alue of c in the rnean value thecrem fcr ftxi = ;q{X - 1) (x - 2i
in iil. 121"

10. Hvalirate lig;:-;
.11. Write the v;orking procedure tc fit the line V = a + bx tc a given data.

ir zl
12. Find the rank of rnatrix I 

a o l*V reducing it to norrnal form.
| ^ -ltJ 5l
l, l

j 3. it axr' - lhx"y * by. = r iinC ff
14 Evaiurt* I'gi ffi -; j

15, Siai* Leibnitz's theorern.

PART_ C

Cuesticns 15 * 22 Answer any 4 questions. Fach questicn ca.rries 3 rnai'ks each

i: -'n : llj6. Find the r.ank of | 1 4 -2 1 l"

ls z 4 3l

X

i7. Find the nth derir,,aiive cf Fftta;3i
18. lf {t *x2) y:-xyr *a7y =0, provethai(1 -x2)yn*z-t}n+'!)xy^ r -inz+a2i

Yn=0'

I e Evaruare i n;i?:":tl**l
20. Evalr.rate lrm* ,- ,sinxta,rx
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21 . lf F is the resistance to maintain a train at speed V, f ina a law

Fi = & + i: V? cannectirrg R and V. using the foilawing data. .

---*-i--- --*--l
2A 30 i

I

I
i

"3

ti I

ZZ. Verrty Rolle's theorem {or the functtcn fix) = ix - aim ix - b)n. where rn and n

are positive integers, in the interval [a. bi'

PAftT _ D

Questions 23 - 26. Answer any 2 quesiiOnS. Each questicn carries 5 marks.

f1 t ,l
23. Using partiti*n rnethcd. find the inverse cf l+ 3 *l 

I

^ 13 5 3i
24. Finrl tne nlh iierivative of e2"Cos2xSrnx- 

L

25. Using Maclaurin's sertss. expand tatix upto terrn containtng x5

26. Fii a $et;or](-j iJegr'ee paralroia tc ihe foiiowing data :


